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ﬁ;’g TREOBEBOTILEHOKRES TREOHBEEILNOKRES TEFEOBRBOEILHDOKRES TREOHBESSLADKRES
7 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 251 3842 | #nLS | 000 ~ 251|235 10.33 ThList 1.00 | 5.00 ~ 5.40 38.42 | #nLSN | 5,00 ~ 6540 | 2.35 10.33
2 100kN/mM##BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM#%#8% % — - ~ — — |3ImEFBZ B - ~ — — —
ZhnLst 1.00 | 0.00 ~ 6.05 89.64 | =nLs | 000 ~ 000 1.70 7.48 zhLst 1.00 | 6.00 ~ 1115 89.64 | #hst | 5,00 ~ 1115| 1.70 7.48
3 100kN/m##8x5 | 1.00 | 000 ~ 0.11 101.85 |3mZ#BAB| — ~ — — — | 100kN/m%E#8z% | 1.00 | 1262 ~ 1305 101.85 |3mE#Bz% - ~ — — —
s 1.00 | 011 ~ 680 100.00 | =nhst | 0.00 ~ 0.00| 1.82 8.03 ThList 1.00 | 5.00 ~ 1262 100.00 | =nst | 6.00 ~ 1305| 1.82 8.03
4 100kN/m%E#8z5 | 1.00 | 000 ~ 039 106.45 |3mE#Bz5B| — ~ — — — | 100kN/mM%#B=2% | 1.00 | 1273 ~ 1428| 106.45 |3m&E#B25 - ~ — — —
st 1.00 | 039 ~ 707 100.00 | =04t | 0.00 ~ 0.00| 1.90 837 ThList 1.00 | 5.00 ~ 1273 100.00 | =nst | 6.00 ~ 1428 1.90 837
5 100kN/m#E#Z5| 100|000 ~ 219 13858 |3m&E#BZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1280 ~ 2800 138.58 |3m&x#z% - ~ — — —
s 1.00 | 219 ~ 888 100.00 | =0t | 0.00 ~ 888\ 2.93 12.88 ThList 1.00 | 5.00 ~ 1280 100.00 | =nst | 5.00 ~ 2800 2.93 12.88
p 100kN/m##825 | 1.00 | 0.00 ~ 131 122.55 |3mZE#BAB| — ~ — — — | 100kN/m%E#8Z 5| 1.00 | 1507 ~ 19.75| 122.55 |3m&E#Bz2% - ~ — — —
zhLst 100|131 ~ 800| 100.00| FhLs | 000 ~ 800\ 2.41 10.62 zhLst 1.00 ] 6.00 ~ 1307 100.00| FhLS | 5,00 ~ 19.75 | 2.41 10.62
7 100kN/m##8x5 | 1.00 | 0.00 ~ 131 122.55 |3mZ#BAB| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1307 ~ 19.75| 122.55 |3mE#z2 % - ~ — — —
Thilst 100|131 ~ 800| 100.00| ThiH | 000 ~ 800 2.62 11.53 ThLst 1.00 | 5.00 ~ 1307 100.00| ThLS | 500 ~ 19.75| 2.62 11.53
P 100kN/MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m%E#BZ B - ~ — — —
Thilst 1.00 | 000 ~ 526 77.41 | #nRS | 000 ~ 526|277 1219 ThLlst 1.00 | 56.00 ~ 11.92 77.41 | #nS | .00 ~ 1192|277 12.19
9 100kN/M%#22 % — - ~ — —|3mEBZRB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m#ZF#BZ 3 - ~ — — —
Thilst 1.00 | 000 ~ 636 94.76 | Thst | 000 ~ 636\ 2.60 11.44 ThLlst 1.00 | 6.00 ~ 1573 94.76 | RS | 5.00 ~ 13.73| 2.60 11.44
100kN/MZ#2 2 % ~ 3mEHBAD ~ 100kN/ M%Z#BZ % ~ ImEREZ D ~
Thilst ~ Thilst ~ ZhLlst ~ Zzhust ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhsn ~ zhst ~ Thsn ~ ZzhLst ~
100kN/mM%#2Z % ~ ImEEBAD ~ 100kN/ M%#BZ % ~ ImEREZD ~
zhsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2 2 % ~ 3mEHBAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Ths ~ zhs ~ Thsn ~ ZhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%Z#BZ % ~ ImEEZD ~
Thilst ~ ThLlst ~ ThLlst ~ Zzhust ~
100kN/MZ#2Z % ~ ImEBAD ~ 100kN/ M%Z#BZ % ~ ImEREZ D ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~




